1 2 3 4 5 6 7 8
200m

23,000 10 0.3 0.3 <0.01 0.1 <0.01 <0.01
4-t- 7 <01 <01 <001 <001 <01 <001 <001
4-n- 1 <01 <01 <001 <001 <01 <001 <001
4-n- <01 <01 <01 <001 <001 <01 <001 <001
4-n- 0.8 <01 <01 <001 <001 <01 <001 <001
<01 <01 <01 <001 <001 <01 <001 <001
4-n- 0.1 <01 <01 <001 <001 <01 <001 <001
4-t- 0.6 0.7 <01 <0.01 <0.01 <01 <0.01 <0.01
<2 <2 <02 <02 <02 <02 <02 <02

(b g/L)




1 2 3 4 5 8

200m
38,700 13 <01 <0.01 <0.01 -
4-t- 5.4 04 <01 <0.01 <0.01 -
4-n- - - - - - -
4-n- - - - - - -
4-n- - - - - - -
4-n- - - - - - -
4-t- - - - - - -

(b g/L)




1 2 3 4 5 8

200m
30,500 21 <01 <001 <001 -
4-t- 6.1 <01 <01 <0.01 <0.01 -
4-n- - - - - - -
4-n- - - - - - -
4-n- - - - - - -
4-n- - - - - - -
4-t- - - - - - -

(b g/L)




2 3 4 5 8

200m
<01 <01 <001 <001 -
4-t- <01 <01 <001 <001 -
4-n- - - - - -
4-n- - - - - -
4-n- - - - - -
4-n- - - - - -
4-t- - - - - -

(b g/L)




EERIVEVSEER

1728108 EK
BREES 1 2 3 4 5 6 7 8
A HFTFET | HF200m| HFER RFTESRERT=HRE AT=2E | 2Tl ETFERE
ER7x/—ILA 34,700 1 < 0.1 < 0.01 < 0.0t - - ~
4T F T/ —Ib 0.6 0.3 <01 < 0.01 < 0.01 - - -

4—n-F NI/l

dn—-~F T/ —ib

fo=-~NTF N T/~

ST/

4n~FPFNT/— IV

A OFINT/—I

JANEED TFAANFTUI

(ue/L)




BIERIEVDTHER

17E3H178EK
BAEES 1 2 3 4 5 6 7 8
WRE HFFET | RF200m | HTFER B FTEREPRT=HE BT32E | ST ST SR
Ex7z/—ILA 900 0.1 <01 < 0.01 < 0.01 - - -
4—~TFNTIJT/— IV 1.4 0.1 < 0.1 < 0.01 < 0.0t - - -

4—n-UFNLTT/ b

4NN T/

4-n-~TF LT/

=2/ —ib

b-n-FZFN T/l

A~-FPFNTz/—

DALBED TF AT

(He/L)




BIERILEVSTER

178548 21HEK

BHEES 1 2 3 4 5 6 7 8

5 RTET 5T 200m| mFER | D e | FEEF g w2
EXAT7xz/—IL A 1,100 70 <6.1. < 0.01 < 0.01 - - -
d—t-TFNTz/— I 320 <041 <041 < 0.01 < 0.01 - - -

fon-RUF LT/ — )b

4-n-~FL T/ —Il

4-n-~TFIN T/ I

=z / =

A-p-FIFNT /L

~t-FI7FNT7z/— NI

TANBOTFIAFTLIL

(1eg/L)




BEARILEVOAER

17581288 K
BHREE 1 2 3 4 5 6 7 8

5 % STET ET 200m| mTEE | Do BTER latam | s ATER
ERIT/—I A 1,300 10 < 0.1 9 < 0.01 - - -
4-t-TF T/ 211 1 < 0.1 < 0.01 < 0.01 - - -
4-n-~_UFNTx/—I) < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 - - -
fon-~FUNTz/— )L < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 - - -
f-p=-~NTF N T/ ~b < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 - - -
JZ7x/—I < 0.1 < 0.1 < 0.1 < 0.0t < 0.01 - - —
d—o-FTF NI/ 4 < 0.1 < 0.1 < 0.01 < 0.01 - - -
4—t—-FIFNTz/—Ib < 0.1 < 0.1 < 0.1 < 0.01 <001 | - — -
TRILBUIFILATYIL <2 {2 <0.2 < 0.2 <0.2 - — -

(usg/l)




BERLVEVSHER

17E6H9BEEK
BHES 1 2 3 4 5 6 7 8
5 2 BTFET BT 200m| BEEH | T e | FTEF avaw | v ATER
ERx7z/—b A 15,000 140 < 0.1 < 0.01 < 0.01 - - -
d—t-TFNTz/ )b 1700 <1 < 0.1 < 0.01 < 0.01 - - -

d-n-RoFNTz/—Ib

d-n-~NEIN T/ — )b

d-n-~TFL T/ — I

JZWNTx/—

d-n-AOFNTz/—

A-t~-FOF N7/ — i

THRIIEBEOIFILAFIN

(ue/L)




BERILEVDHER

17E7R78BEK
BREBE 1 2 3 4 5 6 7 3
oy - = H o o4
5 % BFET T 200m| HFEH | " g ﬁzgﬁ ETR | ETAN | SR
ERIt/—iL A 32,000 <1 < 0.1 < 0.01 < 0.01 - - -
4~t-TF LT/ —IL 1300 <1 < 0.1 < 0.01 < 0.01 - - -

4-n-RUFNTT/— )L

d-n-~"FUNTz/—

d-n-~NTFHLTx/—IL

=TIz /I

d-n-FTFINTx/—]L

d—t-FDFNIT/ I

TRIESIF AT

(teg/L)




BEARLVECSHER

1788A 178K

BRRES 1 2 3 4 5 6 7 8

bt 5 4 BT (BT 200m| mEaE | 2o | REER avmu | man ATER
EAT7z/~J A 34,000 G680 < 0.1 < 0.01 < 0.01 - - -
4-t-TF LT /—I 1,000 56 <01 < 0.01 < 0.01 - - -

4-n-NFNT/—Ib

d-n-~F LT /=)

4-n-~TF LT/

Sz~

d-n-AOFNTT/— I

d~t-FoF N T/ — I

DEIBOCIFLAZTUIL

(ue/L)




REFRLEVSHER

1798 8HEK
BARES 1 2 3 4 5 6 7 8
52 BFET BT 200m| mFam | 2o | PO may | mwa ATAR
EX7z/—IL A 14,000 1,300 < 0.1 < 0.01 < 0.0t - - -
4—t-TF N T/ =]l 400 52 < 0.1 < 0.01 < 0.01 - - -

d—n-~2FNTT/—I]L

d-n-~FL T/l

b4—n-~TF LT/ —]L

ST/~

A-n-F7FNTz/— b

d~t~FAPFNT7x/—I]b

DELBOCIFLAEIUIL

(re/l




BIERLEVYOH&R

17510868 EK
BEES 1 2 3 4 5 6 7 8

b 5 ETET | 200m | HEAH | Do RTER g | sTAN BTaRN
EXATz/—ILA 15,200 12,000 21 66 < 0.01 - — -
4—-TF N T/~ b < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 — — —
4—n-RUFNTz/— L < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 — - -
dn-~NFNT/— )b < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 - - -
4—n-~NTFNTT/—I < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 — — -
=TT/ < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 — - -
4-n-AIFNTT/—) < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 — = —
d—t-A9FN T/ < 0.1 < 0.1 < 0.1 < 0.01 < 0.01 — — —
TANBBOIFAANTUIL <2 <2 < 0.2 <0.2 <0.2 - — —

(ue/L)




